
1) The PC holds the address of the next instruction to be carried out.

2) This address is copied into the MAR.

3) The contents of the address in the MAR are copied into the MDR.

4) The contents of the MDR are copied into the CIR. 

5) The contents of the PC are incremented. 

6) The contents of the CIR are then divided into the binary code 
standing for the operation to be carried out, and probably the address 
of the data that will be used by the program. 

7) The control unit then interprets the operation code so that the 
processor knows what to do next. 

8) The address part of the instruction is copied from the CIR to the MAR.

9) The data found in the address in the MAR is copied to the MDR.

10) The data is used.

Point 10 in reality is more complex than this because the action depends 
entirely on the type of instruction. 

Can you think of an example of what might actually happen here?

PROCESSOR CLOCK SPEEDS 
One cycle per second = 1 Hertz (Hz) = 1 instruction carried out each second 
1 Kilohertz (KHz) = 1024 cycles per second 
1 Megahertz (MHz) = 1,048,576 cycles per second 
1 Gigahertz (GHz) = 1,073,741,824 cycles per second (Approximately 1 billion!) 

 

 

 


